cs105 Exercise Set 12
1. In C++, a function that accepts a float and an array of strings would be declared as:
a. tryThis(float [], string [])
b. tryThis(float, string [])

c. tryThis(float [], string)

d. tryThis(float, string )
2. Passing a single integer to a function differs from passing an array of integers to a function in that:

a. It is illegal to pass an array into a function
b. An array of integers must contain at least one non-0 value
c. A single integer is Pass-by-copy, while an array of integers is Pass-by-reference
d. A single integer takes more memory than an array of integers
3. To pass an entire array of values to a function, one calls the function by:

a. numSwapper(arrayVals)
b. numSwapper(arrayVals[])

c. numSwapper(arrayVals[0])

d. numSwapper(arrayVals[sizeof(arrayVals)])

4. Write a program that declares an array of ASIZE integer elements.  Prompt the User for ASIZE integers and store them in the array.  Create a function called dispFirst() that accepts one parameter which is an array of integers.  Make sure you declare the function above main(), and define the function (i.e., write the actual code) after main().  dispFirst() should display the first element of the array passed to it, and return void.
5. Modify the program you wrote for Problem 4 such that the function is passed a second parameter which is an integer.  The function should display the element of the array given by the offset passed as the second element.  Make sure you rename your function appropriately.
6. Modify the program you wrote in Problem 5 such that it changes the value of the element of the array indexed by the second parameter by multiplying that element of the array by 2.  Modify the name of the function appropriately.  Have main() displays each element of the array before calling the function, and then again after calling the function.

